Year 2 Subordinating conjunctions: Using ‘because’ and

‘that’
Activity 1
Join the sentences below using Join the sentences below using
because or that. because or that.
My bike is so badly broken. The knife was stuck in a tree.
My dad can't fix it. The wind had blown it away.
Has ‘that’ been used correctly? Has ‘because’ been used

correctly?
I am going to the cinema with
my friends on Tuesday that it is He laughed really loudly

my birthday. because someone told a
funny joke.
Explain your answer. Explain your answer.

Join the start of the sentence to the | Join the start of the sentence to
correct ending using because or | the correct ending using because

that. or that.
I didn't trip over we couldn’t drive
the chair. to school.

I hurt my knee

The snow was

I sat on the chair. so deep we could still see
the grass.

I tripped over the

K we could drive to
chair.

school.







